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a. Find the first five terms in the Taylor series about x = 0 for f{x).
b. Find the intesval of convergence for the serics in part (a).
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2. Consider the series 552, o, Where p 0.
a. Show that the series converges forp> 1.

b. Determine whether the series converges or diverges for p= 1. Show your analysis.
c. Show that the scries diverges for0 sp< 1.
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a. Write the first four nonzero terms and the general term for the Taylor series expansion of f{x) about x =0.
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*4, Let fbe the function given by f{x) = &7,
a. Find the first four nonzero terms nad the general term of the power series for f(x) about x = 0.
b. Find the interval of convergence of the power serics for f{x) about x=0. Showthe-ndydlmhldshyowmchson

c m;hﬂ:mﬁmbybunofﬂ:mﬁwmmofﬁepvmuiuﬁrfabux-o Show that
1Rx) - g(x)} < 0.02 for -0.6 = x < 0.6.




